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Instructions for the candidate:
1 ofemf n wvr swd v 8 e 2
Candidates are required (o _give their answers_in their own words as far as

practicable.
critd st eiRd o 23 gy vF qafe e svd &)
Figures in the right hand margin indicate full marks.

Ry

&l rra 3wd 8

.

All questions are compulsory,

arre &8 wvy ofendl] vy nag- i e Wy vl

N,

While answering, the candidate should adhere to the word limit as Jar ax
practicable

5  §4 0F 0T @) ugd & 137 15 e @& SR wvg Ry ngr @

15 Minutes of extra time has been allotted for the candidates to read the questions,
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" - N (IS : 60)

GROUP - A (Marks : 60)

Ay .

Instructions:

1

v

1 7 A e @ gwIe oF v & (% AT R 2

Answer in one word or in one sentence the questions of 1 mark.

2 %% o3 gEt & gaw FT so vt A 3 5 qd oF @ Faw s RN A WS

NE oid g & g I 150 Rl R 34 _

Answer in about 50 words the questions of 2 marks, answer in about
questions of 3 marks and answer in about |50 words the questions of 5 marks.

Wfas e/ PHYSICS
qm - 3/ GROUP - A

My M was B e @q @ gumoam e

Which type of mirror 1s used i front of driver?

CgeTa & Wyada & R s 27

How many Laws of refraction of hight are there?
e sat a1 crrnfae srae @ &

What is commercial umit of clectncal energy?
AIDS (vsa) @1 ga - f3a

Write full form of AIDS.

" f¥| 39 @ N 39 aed &

Which lens is known as diverging lens!

6, dada AR FEd &7 Tt &)

A

What is magnification? Explain it

75 words the

(1)

(1)

(1)

(1)

@
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7, vana Tuo A WEA 58 () e asm Den A gm e #? @)
Write formula of relation between focal length and radius of curvature in concave

mumor,

8 g s ¥ 87 R wmde iy unre @ e 82 @)
What do you mean by Electric charge? Write types of Electric charge,
9. wanadl Ut g R ar A R e Y ()
.Writc difference between Alterating and Direct current.

10 faga v A am o W & R Rig ® wn s 22 gad) s o
frm AR &1 ot @) )
What is Electnc Generator? Explain principle of its function. Describe its structure .
and working procedure.

OR / 3ear
T, JATE, HLAAS (4 IR aed A T a1 Frsry &7 e anen 31 ()

Explain Conductor, Non - conductor, Semi - conductor and Super - conductor with

example.
WEa e / CHEMISTRY

A3 /GROUP - A
1. 7T JuA fa ewa & (1)

What i1s Galvanisation?
R Jfe R o anfeass g7 ford | (1)

Write down the molecular formula of Plaster of Paris.
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3. f fafaa afham a wafe wY- (1)
CO: + H;0 = C, H,y30, + H,0 + 0,
Balance the following cquation-
CO: + H;0 - C, H,0, + H,0 + O,
/4,/QmQi{mnqm;mmmmmmﬁaﬁmﬁmﬁﬁﬂtl (1)

: C b in liquid state @ a
Write down the name of a non - metal which is found in liquid state at normal

temperature,
5.~ dfemm B uem wn frad &2 (1)
v
Write down the atomic number of calcium,
aY-ITT
6. ufrwmua afvfym am 82 )
What is replacement reaction?
7. IORS D WM am e 82 @)
What do you understand by catalyst?
8. EgIfrfiavy am &2 gwa shenfrs g @ 82 @)
What is Hydrogenation? What is its industrial application?
97 WS & anadarf N Remfast a1 frd | (3)
-

Write down the anomalies of Mendeleev's Periodic Table.
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fidanda ue

0w () T A (i) o (et and (5)
wm (i) wni (i)
() Wn aw CuSOy, 2 11,0
(i) o) w1 W CuSO4 5 1,0
(i) el @am Na 11 CO,
(iv) @ eden Nii,COy, 1010
(v) fram NSOy, 10 11,0
Match the following column (i) to (ii)
Column (i) Column (ii)
(1) Baking soda CaS0y, 2 H,0
(i) Washing soda CuS0y, 5 H,0
(111) Glauber's salt Na H CO,
(iv) Blue vitriol Nuay,CO\y, 10HL0
(v) Gypsum Nu504, 10 H,0
OR / 3an
ﬁmﬁmgﬁtﬁmmu@mm@ﬁwmnﬁi ®)
Distinguish between Metal & Non - metal on the basis of Chemical Properties.
e w7 BIOLOGY
- & / GROUP-A
3 P AT ol Q8 T w A el ")
Write name of discase which occurs due to deficiency of vitamin A,
y&ﬂmﬁm 7t SRl A B g vawe R W aa amy 87 ()
Write the name of respiration which oceurs in presence of oxygen,
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"~ (3% : 20)
GROUP - B (Marks: 20)

e
Instructions :
(i) ARE T¥ 0T ¥F ¥1 8/

Each question carries one mark

(ii)

J‘?ﬂv&nwf#méwﬁvam##aﬁmwﬁmmnm#ﬂm%#l

Write down the correct choice with question no. Jrom the given Jour options.

W@ e /PHYSICS

T -3 / GROUP-B

(M. C.Q.)
I uEre @) (e e agih @ (1)
() W g by & ¥
(c) N w2 (dy 5 g oM
The ray of light passes through
(@) In straight line (b) InZig Zag hine
(¢) Inany direction (d) None of these
2. a3 fag e zdo @ Synm @ 82 (1)
(9) yEd Tiv (b) IoF zdw
(¢) WAl T (d) & 3 T
Which mirror is used as shaving mirror?
(a) Concave mirror (b) Convex mirror
(¢) Plane mirror (d)  None of these
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adame @ wds aag @ -

(a) ©TA (b) Srmre

(c v (d) T @ T
The reflective surface of search light is :-

(a) Convex (b) Concave
(c) Planc (d) Nonc of these

Frafafea % 9 R swam arn @) ard dam 2 7@ g 82

(@ C.N.G (b) L.P.G

() it (d) @

Which of the following is not used as a cooking fucl?

(@) CN.G () LP.G

(c) BioGas (d) Coal

SR TS BN &1 g sl # oo avar 27

(a) afy ot (by" Rt

(c) R St (&) ¥ @ T
Dynamo converts mechanical energy into:-

(a) Sound Energy (b) Electrical Energy
(c) Solar Energy (d) Nonc of these
& A R @ grien s s B &

(a) W& R (b) wire ufde

(c) T| U WA d) ¥ FIE T
The reason of accidents from electricity in houses is-

(a) Fuse wire (b) Short Circuit
(c) High voltage (d) None of these

(1)

(1)

(1)

Previqus Pa hala
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7. Ma mamrom & - (v)

(n) 193 i A reg (b) Tod Fa N aw
(c) wmma oho oY o (d) g 2Yf 4
The cye is used as:-

(a) Concave mirror (by Conver lens
() Plane Mirror (d) None of these

g wEr / CHEMISTRY
w1 ~- 8/ GROUP - B

(M.C.Q)
1 af¥m @ qumfye o am @2 (1)
(a)  MgCO, () CaO
(¢) CaCO, (d) " CatliCO,

What is the chemical formula of chalk?

(a) MpCO, by CaO)
(c) CaCO, ) CatHCO,).
2 COOH sfxfyura giae ) sm st B (1)
(a) vwfcserds (b wsa
(c) A id) e
COOH Functional group is called-
(a)  Aldehyde ®  Acid
(¢) Ketone (d) Ether
3 faelt o acdha frama @1 pH om @ - (v)
(a) 7 & @w (by r & wRs
(c) raww (d) ¥r§ =«

The pH of an acid solution ts-
(1) Equalto? (b) More than 7
(¢) Lessthan?7 (d) Noae of these
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7. anRE smad aed ¥ ARG waR @ wen ol @ - \)
(a) 18 (b)y 7
(c) 16 (d) 10

The number of horizontal rows in modern periodic table is -

(a) I8 by 7
(c) 16 d)y 10

e g/ BIOLOGY
AT -4 / GROUP-B

(M. C.Q.)
. Y& & T TR WEAE war 2 ()
(a) @ AR (b) ¥ @@ Bt
(c) & R (d) = =
Responsible for clotting of blood-
(@) R.B.C (b) W.B.C
(c) Blood platelets (d) None
2. I3 O WA (@ e s B @ sEa &2 (1)
(a) TAPREW (b) AN IwE
(c) Tafe (d) AR
Structural & functional unit of kidney is called
(a) Glomerulus (b) Bowman'’s capsule
(¢) Urinary tube (d) Nephron
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